FACTORISATION

Consigne: factoriser lesexpressions suivantes.
EXERCICE1: 16@-81— (4—9)(—2%-11)
Réponse : = {@— 9)(3% + 20)

EXERCICE 2 : 492 — 36 + (k— 6)( — X + 14)
Réponse : = @— 6)(5< + 20)

EXERCICE 3: 42 -9 — (X + 3)(6¢+ 19)
Réponse : = @+ 3)(— & —22)

EXERCICE 4: 92 —225+ (— &%+ 4)(X + 15)
Réponse : = 8+ 15)(— x—11)

EXERCICE5: 1962 — 64 — (14 + 8)(4x— 16)
Réponse : = (2d+ 8)(1x + 8)

EXERCICE 6 : 1442 — 49 + (1% — 7)(2&— 15)
Réponse : = (22— 7)(4X — 8)

EXERCICE 7: 25@ — 169 —X + 15)(5 + 13)
Réponse : = (6+ 13)(& — 28)

EXERCICE 8 : 1692 - 144 + (13 - 12)(2&)
Réponse : = (18- 12)(3% + 12)

EXERCICE 9: 1962 - 100 — (18— 21)(14 — 10)
Réponse : = (24— 10)k + 31)

EXERCICE 10 : 1062 — 100 + (18 + 10)(1% + 13)
Réponse : = (20+ 10)(2% + 3)

EXERCICE 11: 36@—49 — (& + 7)19
Réponse : = (6+ 7)(6x — 26)

EXERCICE 12: 8% —144 + (18 + 17)(X + 12)
Réponse : = @+ 12)(2% + 5)

EXERCICE 13: 1692 - 16 — (24 + 4)(1% + 4)
Réponse : = (13+ 4)(— 1k - 8)

EXERCICE 14 : 1962 — 144 + % + 16)(1& — 12)
Réponse : = (M- 12)(1% + 28)

EXERCICE 15: 1442 —-64 — (— 22+ 22)(1X + 8)
Réponse : = (22+ 8)(34& — 30)

EXERCICE 16 : 1962 — 121 + (14 + 11)(1X + 23)
Réponse : = (Md+ 11)(26& + 12)

EXERCICE 17 : 1692 — 121 — (- 30— 17)(1% + 11)
Réponse : = (18+ 11)(4X + 6)

EXERCICE 18 : 252 —36 + (2% + 11)(5 - 6)
Réponse : = (6— 6)(3X + 17)

EXERCICE19: 9% —-1—(X+1)(—1&+7)
Réponse : = 8+ 1)(1% — 8)

EXERCICE 20 : 1962 — 144 + (14— 12)(— 3@ — 12)
Réponse : = (14— 12)( — 16)

EXERCICE 21 : X2 — 225 — (— $— 26)k — 15)
Réponse : =(— 15)(6 + 41)

EXERCICE 22 : 8% — 121 + (28 + 5)(% — 11)
Réponse : = (09— 11)(3% + 16)

EXERCICE 23: 492 -1 — (k- 1)(2k - 21)
Réponse : = 7— 1)(— 1% + 22)

EXERCICE 24 : 16@—196 + (% — 14)(6 + 23)
Réponse : = {d— 14)(1& + 37)

EXERCICE 25 : 8% —64 — (— 28— 2)(% + 8)
Réponse : = (@+ 8)(3% — 6)

EXERCICE 26 : 492 - 144 + (%x— 12)(— 28 — 21)
Réponse : = @— 12)(— 2X-9)

EXERCICE 27 : 162 — 36 — (4— 6)(2& + 25)
Réponse : = (d— 6)(— 24— 19)

EXERCICE 28: 252 -1+ (- &—26)(% + 1)
Réponse : = 6+ 1)(—x— 27)

EXERCICE 29 : 36@— 16 — (& + 4)(16¢ + 22)
Réponse : = (6+ 4)( — 1& — 26)

EXERCICE 30: 2252 — 16 + (1% + 4)( — 2k + 26)
Réponse : = (26+ 4)( — & + 22)



